ATF6 ACSL1
24- Sekek 24- = K%k
224 wn 2.2
o 2.0- o 204
£ E 18- £ E 184
L 2164 o g 164
S 21144 g 114+
8§ 2121 S 2124
S E 1.0 ; € 1.01
3 5 0.8- S 508
< 3 0.6- S G 064
¥ 2 044 r 2 041
E 021 E 024
0.0- 0.0-
siscram siATF6 siscram siACSL1
B
Rela Relb
0.020- 0.0008- *
iy I
Q *kk*k Q .
% 0.015- °® % 0.0006-
© o «3 2 ¢
< <3 <
= 0.010- g ® = 0.0004
x x
S . -I; S _I_
3 0.005- ] ® i o
g, 0.005 * 8 S, 0.0002 00
© ©
8 Py 8 ﬁ
0.000- 00000 lte RSO
unstim ™ unstim ™
100 ng/mL 100 ng/mL
C WT ALtf6 tgtg
unstim  TM 3h unstim  TM 3h
kDa
100-|— *®eee 'Z--O“---| p100
65-|— i - wie .. P _l p-p65 (Ser536)
65-------3- —  —— p65
36 e | | 38
38-|———""."§ - — -‘|p38
78_|..---—--'i-_-___|GRP78
R e ——————————
p-p65 p52
8n 6- Fkkk 4=
* [ ]
*
. +
6- - o 34
2 541 2 2
2 * EL( ‘} < .
241 o % ) . 8 27
N N e
a 0 2 o
24 . < 1{2p
8= #e 8= %0 o
0 0- 0-
unstim ™ unstim ™ unstim
3h 3h

p-p38

mRNA fold change relative

target mMRNA/GAPDH

™
3h

CSNK2B
1.6 *kk .
1] = 3 unstim
: Bl T 5 pg/mL
£ 1.2
[72)
%l 1.04=
% 0.84
T 0.6-
3
‘» 0.4
e}
0.2
0.0
siscram siCSNK2B
Nfkb1 Nfkb2
0.051 0.0006- Hkkk
(] oWT
= H
0.04 : 8 o Atf6 tgtg
%00 98 & 0.0004- 'I‘
s % < -
5 o
0.024
g 8o
o 0.0002-
o mp _ 8 5 +
00188 > w33
0.00- 0.0000- acd
unstim ™ unstim ™
100 ng/mL 100 ng/mL
D
Birc2
0.0015+ .
T *k é
L 3
S 0.00107 N 2
Y
P
z +
< 00005158
>
R
0.0000
WT Atf6 tgtg
Birc3
0.010- x
T Sk -
Q 4
2 0.008 gt -%-
o &
o WT S 0.006+ 3 i
x
o Alf6 tgtg £ 0.004-
g
g 0.0024
2 o 8=o
0.000
WT Atf6 tgtg
o unstim

A4 TNF 100 ng/mL
4 TNF+aTNF 100 ng/mL
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